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QUESTION 1

A VPLEX write splitter can be shared with how many RecoverPoint clusters? 

A. 5 

B. 6 

C. 8 

D. 10 

Correct Answer: B 

 

QUESTION 2

What is a named point-in-time copy of data marked by the system for recovery purposes within RecoverPoint? 

A. Bookmark 

B. Snapshot 

C. Image Access Point 

D. Journal 

Correct Answer: A 

 

QUESTION 3

A company believes their WAN IP network has performance problems. Which IP diagnostic tool can be used to confirm
this issue? 

A. Test Throughput 

B. Port diagnostics 

C. Full mesh network test 

D. View Routing Table 

Correct Answer: C 

 

QUESTION 4

A large data center is hosting storage protection solutions for multiple companies. This solution is accomplished by the
hosting organization\\'s ability to consolidate data to an environment with two VNX arrays. 

How many RecoverPoint clusters can be used in this environment? 
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A. 12 clusters, assuming each LUN is attached to only one cluster at a time 

B. 6 clusters, assuming only vRPAs are used 

C. 12 clusters, assuming each LUN is replicated across the clusters 

D. 6 clusters, assuming each LUN is attached to only one cluster at a time 

Correct Answer: A 

 

QUESTION 5

In a EMC RecoverPoint environment, which EMC product adds support for heterogeneous storage systems? 

A. VPLEX 

B. VNX/CX 

C. VMAX 

D. Isilon 

Correct Answer: A 

 

QUESTION 6

Your RecoverPoint system is configured to send EMC system alerts. To prevent an EMC SR from being opened during
a maintenance activity, what do you need to do? 

A. Uncheck the `Enable System Notification\\' box 

B. Call EMC support and tell them you are conducting maintenance 

C. Uncheck the `Enable System Alerts\\' box 

D. Add an event filter 

Correct Answer: A 

 

QUESTION 7

Which tool is used to enable a VNX splitter? 

A. Unisphere Service Manager 

B. Unisphere for RecoverPoint 

C. Deployment Manager 

D. NaviSecCLI 
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Correct Answer: A 

 

QUESTION 8

A company is using RecoverPoint to protect their environment. They need to add a new Replication Set to a
Consistency Group that will have an extremely high I/O load. 

What would best meet their needs? 

A. Use the Distributed Consistency Group feature 

B. Increase the number of storage LUNs for the journal 

C. Devote an RPA to just that Consistency Group 

D. Increase the Consistency Group journal volume size 

Correct Answer: A 

 

QUESTION 9

A storage administrator has a RecoverPoint environment with vRPAs containing 64 Consistency Groups (CGs). They
want to create distributed CGs. 

What is the maximum number of distributed CGs that can be added to this particular system? 

A. 0 

B. 8 

C. 40 

D. 128 

Correct Answer: A 

 

QUESTION 10

Which Image Access Mode should be used when large portions of an image might be changed? 

A. Logged Access 

B. Virtual Access (without Roll) 

C. Snap Access 

D. Virtual Access (with Roll) 

Correct Answer: A 
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QUESTION 11

In a VPLEX splitter environment, where is the splitter process running? 

A. VPLEX directors 

B. VPLEX FE ports 

C. VPLEX BE ports 

D. VPLEX volumes 

Correct Answer: A 

 

QUESTION 12

When creating a Consistency Group (CG), what is true of RecoverPoint/SE only? 

A. All volumes of the array are displayed in the available volumes list. 

B. Journal Compression may be used. 

C. The CG must be created from Unisphere for RecoverPoint. 

D. Journal volumes may be automatically provisioned. 

Correct Answer: A 

 

QUESTION 13

An environment consists of a two-RPA, single cluster. There are 74 Consistency Groups (CGs) configured and
replicating. The administrator asks you what impact an RPA failure would have. 

What should you tell them? 

A. All CGs will run on a single RPA. 

B. The first 64 CGs will run on the single RPA, the others will be disabled. 

C. The first 64 CGs will run on the single RPA, the others will be paused. 

D. The 64 CGs with the highest priority will run on the single RPA. 

Correct Answer: A 

 

QUESTION 14

What is a characteristic of a volume sweep? 

A. Initialization is done on specific volumes in a Consistency Group. 
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B. Initialization is done on all volumes in a Consistency Group. 

C. A volume sweep occurs when a user enables a disabled volume. 

D. A volume sweep occurs when a user enables a disabled splitter. 

Correct Answer: A 

 

QUESTION 15

Which Open Replicator mode is used by the RecoverPoint VMAX write splitter? 

A. Modified Hot Push 

B. Cold Push 

C. Hot Pull 

D. Cold Pull 

Correct Answer: A 
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